
27-Násobení mnohočlenu mnohočlenem 

Násobení mnohočlenu mnohočlenem 

 
 

1. Vynásobte a zjednodušte: 

a)  ) 3)(2( xx  

b)  )1)( 2( aa  

c)  ) 1)(3( yy  

d)  ) 7)(5( dd  

 

 

2. Vynásobte a zjednodušte: 

a)  )27()1( aa  

b)  )24()2( rr  

c)  )53()( yxyx  

d)  )35()28( baba  

 

 

 

3. Vynásobte a zjednodušte: 

a)  )1)(1()3)(4( aaaa  

b)  )1)(2( 2xxx  

c)  )23)(6(5 ttt  

d)  )32)(1(2)24( yyyy  

 

 



27-Násobení mnohočlenu mnohočlenem 

Řešení:  

 

 

1. Vynásobte a zjednodušte: 

a) 65) 3)(2( 2  xxxx  

b) 232)1)( 2( aaaa   

c) 32) 1)(3( 2  yyyy  

d) 352) 7)(5( 2  dddd  

 

 

2. Vynásobte a zjednodušte: 

3. 297)27()1( 2  aaaa  

4. 82)24()2( 2  rrr  

5. 22 523)53()( yxyxyxyx   

6. 22 61440)35()28( babababa   

 

 

7. Vynásobte a zjednodušte: 

a) 112)1)(1()3)(4( 2  aaaaaa  

b) 233)1)(2( 232  xxxxxx  

c) 608015)23)(6(5 23  ttttt  

d) 392)32)(1(2)24( 2  yyyyyy  

 


